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llopdoeryua 10.7:

log(Emevovoeic Xritia) = -.550 + 1.241xlog(Tuéc Zritia)
(.043) (.382)

HIIA: 1947-'88, n = 42, R2= 0.208, R2= 0.189

log(Emevodoeic Zritia) = .0081xt

(:0018) [IpoPAnuatika
log(T1uéc Zritia) = .0044x%t (Avtoovoyétion)
(.0004)

> Ynaapyovv tdoscig



log(Emevodoeic 2ritia) = -.913 — .381xlog(Twéc 2mitia)
(.136) (.679)

+.0098xt
(.0035)
n=42, R?=.341
* TIUEC ACNUOVTEG

e Enevdioeic 1T 1%/4toc



log(Emevodoeic 2ritia) = -.913 — .381xlog(Twéc 2mitia)
(.136) (.679)

+.0098xt
(.0035)

n=42, R’>=.341

AV OUwWC¢ aQaipETOUUE TV TAON TTPIV ThV
TaAivopounon

(10.10): log(Emevovoeic 2ritia ue APAIPEMENH tdon)
=B0+B1xlog(Tiuéc Zritia) +.02%t

—> R2?=.08



